l- l . ~ne tion A,/c? -(—.\1‘,;,,,_

0{() Way: >: 2}( + 6_
U&«/ Wy -p(x)-_-, a\x-t' 5
Lol K"
\qQ a+ . /7
Eoalofe Q(g) = Q(3) +S Q(“% = Q(-§)
SHEA F&) = ~(6+s
(3,1) L(=&)=—Il

Eoaide the x £ ‘Q(X) g

WL«-’- S He D(fww %/\)L f@Sut/“'LJ M 3/?
<

3= ets 2 R(®) - 3

26 = ¥
0 = x
Code (N +3)= AaD+s | §¥
Cln=+3) = 9 bes k)
((n+3) = o <l h(ﬂ

v(t)



EXAMPLE 3 Connecting function notation to a graph

For the function shown in the graph, determine
each value.
[ a) g(3)=
7 b) g(—1) =0
o xifg(x) =1 %(@):(
d) the domain and range of g(x)




